S5-7TH W2 FPER

[£EDAHLRIAN]

(K)~(x) #%2:00~5% 10:00
srvwaber TEL0276-72-5444 3+

________________________

@ IXERTE. FEI0K300FTH-TARICHEICRYMBL LA

@ FEiRYTAMER (BARMAR) S BIH-TEELLS,

TE¥3T. BRENHARD D SRWVWEIHZNERMBLARICTEEY,

@ B TOUARTEYH 16 AAYLBLEBEITT>TLEI,

BHO EMTAMIT7—I79 62K HBINS DS,

G oaite e ayss M

A A
Aih #BROT-IRT2EEMII! 2

Bho |ETHELENEVOT. BiEALNEL Y :BRATIAERDHEN S, ()

7=7%HT5HDIE. TRALEFITS!

(R) (K) (%K) (&) (&)
5/1 2 sthaTe | 3 B#%aTY | 4 15 |1 6 17 |1 8
5/14~7/2 7R b Week HEHENT— /%S ! »‘*’2 7:30~9:55 | ATFEMMMKS5:00~10:30 |2 7:30~9: 55 ﬁ&x&fﬁ@q(ﬁ;?%) #K— F$B 7:30~9:05
10:30 FTHOTV—723FHLS ! aE=mms : 00~[TREN aEzmms: oo~[RER | em=ssms:0~10:30 | azzmsE~10:30
| 9 shaTy |20 sthaty 2 | 22 23 24 25
1030 FTH>TT—72TTHLS | aE = s : 00~TREN auzens: 0~THEN | a==easms:00~10:30 | aBEss IEN~10: 30
26 B*hHITT | 27 BH®hHTY 28 29 30 31 6/ 1 ZRRA
5/14~7/2 FA b Week HEEENT— 7S | »#2 7:30~9:55 BEZMR5:00~10:30 (&2 7:30~9:55 *&ﬁai%q(-i?%) HHE— F2W 7:30~9:05
10:30 FTRTT—92398HELS ! aE=mis : 00~[[EEL agzemixs: oo~[THEN | aBzmms:00~10:30 | au=mxEN~10:30
2 BHRHTY | 3 s#haTT 4 5 6 7 8
5/14~7/2 FA b Week HhZEENDT— 755 | »‘1’2 7:30~9:55 BYEEMKS5:00~10:30 |$2 7:30~9:55 ﬁ&’fiaiﬁmq(ﬁ;?%) HER-FZEE 7:30~9:05
10:30 FTHOTI— 723 THLS | a8z s : 00~ agzems: o0~[IREN | aE=ems:00~10:30 | A= IREN~10:30
9 skHTY | 1 0 s#haTy 11 1 2 () | 4 15
5/14~7/2 FA b Week HhZEENDT— 755 | »‘1’2 7:30~9:55 BYEEMKS5:00~10:30 |2 7:30~9:55 ﬁ&ﬁiﬁiiﬁbﬁq(.i?%) HER-FZEE 7:30~9:05
10:30 FTH2TT—723THLS | aB=mas s : 00~ [N am=ess: o0~[IREN | em=mms:o0~10:30 | ez IRRN~10:30
| 6 B#haTYT | | 7 84khaTY |1 8 19 20 21 22
1030 FTHOTI— 723 TH&LS ! aE=mms : 00~[LEEN aEzmms: o0~[[RER | em=esms:00~10:30 | azzmm R~ 10:30
23 BHaTT | 24 s#4haTy 25 26 27 28 29 EKRZRAE
5/14~7/2 FZ b Week *5&_&07_71%% ] »‘PZ 7:30~9:55 BE =S5 :00~10:30 -] 7:30~9:55 ﬁﬁﬁimiﬁmq(i%%) HR—FFEYF 7:30~9:05
10:30 $TH2TV—92395H3 | aE=miK s : 00~[[EEN aE=mms: o~[[HEN | az=mms:00~10:30 | aE=mxElN~0:30
30 H%haTT |7/ | sthaT¥ 2 3 4 5 6
5/14~7/2 A b Week SEBEDT—2iE8 | % 2 7:30~9:55 - %42 7:30~9:55 ﬁﬁﬁ?ﬁiﬁﬂq(ﬁaﬁ%‘) HR—FEF 7:30~9:05
10:30 X TM2>TI-9&TIHLI ! amEms : 0~[TRED 5 0010+ 30 BB G 00~10:30 | AEEBRS 001030 | AEEME2: 0~10: %
FEFAMHE 5/17 @ 5/21 =
HAKTAMBE 6/19,20,21 BifIch 6/26,27,28 —H - [ 6/25,26,27 tREh 7/1,23 =




